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  ميالجداء السل

  �	ظم �����
  

u ���ن
�

u	�ط��ن �ن ا����وى ���ث :  Bو  �����A و   AB=
�����

  

u	ر�ز ��	ظم ا������ 
�

��u�ر�ز  
�

 ��uو ا���رف ��� � AB=
�

  

  
  ا��داء ا����� �������ن

  

AB���ن 

����
ACو 

����
�# ا������م  Cا����ط ا���ودي ��	�ط�   Hو ���ن������ن !�ر �	�د���ن  $( )AB.  ا��داء ���ا��

�������ن �AB

����
ACو 

����
AB	ر�ز �' ب :   AC•

���� ����
  : ��ABو ھو ا��دد ا������ ا���رف ��� � AC AB AH• •=

���� ���� ���� ����
  

  

�������ن إذا ��	ت �AB

����
AHو  

����
�������ن إذا ��	ت   	-س ا��	�# �AB

����
AHو  

����
  �	���ن �������ن 

    
  
  

�����داء ا��� ��.� ا��0/� ا��.
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�������ن � ���ABا��داء ا��

����
ACو 

����
 : ��) ھو ا��دد ا������ ا���رف ��� � )cosAB AC AB AC x• = × ×

���� ����
  

ABھو ��3س ��زاو�� ا���0ورة ��ن  x( ��ث 

����
ACو 

����
 (    

  

���د ������ن�  
  

  

u���ن 
�

vو  
�

  ������ن �ن ا����وى 
  

0u v u v• = ⇔ ⊥
� � � �

  
  

  
  

  

u���ن 
�

vو  
�

wو  
�

  $دد�ن ������ن  βو α.5ث �����ت �ن ا����وى و ���ن  

� u v v u• •=
� � � �

 

� ( )u v w u v u w• • •+ = +
� � � � � � �

 

� ( ) ( ) ( )u v u vα β αβ• •= ×
� � � �

 

� 
22

u u u u• = =
� � � �

   ( ��� ( ا��ر�6 ا��

� ( )2 2 2 2

2u v u v u u v v•+ = + = + +
� � � � � � � �

 

� ( )2 2 2 2

2u v u v u u v v•− = − = − +
� � � � � � � �

 

� ( ) ( ) 2 2

u v u v u v•− + = −
� � � � � �

 

  
  
  

 8�3م ا�زاو��ا���35ت ا���ر�� �7 �.�ث 
  

  

�.� 8�3م ا�زاو�� ABC   �7���ن .�A  . ن�و �� H   ط��	��# ا������م  Aا����ط ا���ودي �$( )BC : �	د�� ،  

 
2 2 2

BC AB AC= + 

 
2

AH HB HC= × 

 
2

AB BH BC= × 

 2
AC CH CB= × 
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  ��رھ	� ا���و�ط

  

�.� ���ث  ABC���ن .�I  0ف�	�[ ]AB  : �	2�د� 2 2 21
2

2
AB AC AI BC+ = +  

  
  

  

 ��رھ	� ا���:�
  

  ، �د�	� :  �.�.� ABC���ن 

( )2 2 2
2 cosAB CA CB CA CB c= + − × ɵ  

( )2 2 2
2 cosAC BA BC BA BC b= + − × ɵ  

( )2 2 2
2 cosBC AB AC AB AC a= + − × ɵ  

  
  

  
  
  

  

  

 

 

 


